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1) —10+(—13)=—(10+13)
=—-23
3) 2a+7)+Ba—-2)=2a+7+3a—-2
=(243)a+(7-2)
=5a+5

5) —6x4—48=(—2%

=—6X4—48+=(—4)
=—24+12
=—12

(7) —100a 5= —20a

9 (=14)Xx(=7)=+(14x7)
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3 +< 3)
=8a—3
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(15) %(4x+2)+%(6x—9):2x+1+2x—3

=4xr—2
(17) bx—8=—2x+6
Sr+2x=6+8

Tx=14
=2

(19) 0.03z—0.02=1 (2 100 Z 7T T
(0.03z —0.02) x 100 =1 X% 100
3z —2=100
3 =102

z=34

(2) (—54)+(+6)= —(54+6)
=9
4) {(8—18)=(=5)+6X(—1)
={(=10)=(=5)]+6x(—1)

=2—6
=—4
—x+3 _ (—x+3)x8
(6) 5 ><8——2
=(—x+3)X4
=—4xr+12

@) (+7)+(=5)+(—-3)=7—5-3
=—1

(10) 2(6a +4)—3(4da —12)=12a +8—12a + 36

=44

(12) 5—-2x4=5-8

=-3
(14) 64+7°4+(—8)=6+49 +(—8)

(18) %x+6=%x+4 WA 6 2T T

2x+36=3x+24
2x —3x=24—36
—x=—12
x=12
(20) 3(2z +5)=4(x—3)
6x +15=4x — 12
6r —4x=—12—15
2x=—27
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